28/03/2020                                      ATHAVALE CLASSES
Time:- 45 min                                 Continuity  & Vectors                       Marks:-120
1) If [image: ]is continuous for all x, where[image: ] ,then k=                                                      a) 7                          b) – 7                             c)  ± 7                                d) 14 
2) If [image: ]is continuous at x = 2, where[image: ]then a =                                            a) 2                           b) – 2                                c) 1                                 d) 0 
3) If [image: ]is continuous at x = 0, where[image: ]  then f (0) =                                                              a) [image: ]                         b) [image: ]                               c) [image: ]                                d) [image: ] 

4) The function is  a) discontinuous at only one point     b) discontinuous at exactly two points   c) discontinuous at exactly three points   d) None of the above     
 
5) If [image: ]is continuous at[image: ]where[image: ]                                                    a) – 1                                b) 1                                  c) 0                                             d) 2 
6) The function[image: ]  at every [image: ]is                                                                                                     a) continuous on R+    b) continuous on R       c) discontinuous R+      d) discontinuous on R 
  
7) Value of [image: ]so that [image: ]is continuous at [image: ] is                                       a) - 4                           b) 1                                 c) 2                                       d) - 2  
8) If [image: ]is continuous in ( - ∞, 6 ), where[image: ]                                                                 a) a = 2, b = 0               b) a = 0, b = 2                   c) a = 1 , b = 1              d) a = 2, b = 1 
9) If [image: ]is continuous at [image: ] where[image: ] then k =                                                         a) 3                            b) - 3                  c) 6                              d) – 6
10) If[image: ] , then at x = 3, f’ (x) =                                                                                               a) – 1                                   b) 0                            c) 1                              d) does not exist 
11) Let[image: ]    then f (x) is continuous but not differentiable at x = 0, if                a) [image: ]             b) [image: ]              c) [image: ]                 d) [image: ] 
12) If [image: ] is continuous function at x = 0, then the value of “a” is              a) 3                      b) 1                  c) 2                      d) 4 
13) If [image: ] then the values of x which make the function y discontinuous are      a) [image: ]               b) [image: ]                c) [image: ]                d) [image: ] 
14) If [image: ]  is continuous at x = 2, then the n =   a) 6      b) 7     c) 8     d) 3   
15) If [image: ]is continuous at x = 0, then the value of k is: a) 1 b) -2   c) 2   d)[image: ]
16) f (x)  = [image: ] in [ - 2, 2 ] is discontinuous at  a) x = 0   b) x = 2   c) x =-2    d) x = 1
17)[image: ]a and b = a)[image: ]b)[image: ]c)[image: ]d)[image: ]  18) If [image: ]then : [image: ]=     a) 2      b) 0        c)   1      d) does not exist                            19) [image: ]=   [image: ]    for    x  [image: ]  4
                =    k                     for     x  =   4  If f is continuous at x =4 then value of k is                                                                       a) 340                                   b) 240                          c) 250                                   d) 350                     20)[image: ]=[image: ] ,[image: ] f is continuous at [image: ]  then value of [image: ] is                                            a) [image: ]                                   b) [image: ]                         c)[image: ]                                   d) [image: ]                                    





21) If is continuous at x = 7, then f (7) is    a)    b)    c)     d)



22) If is continuous at x = 0, iff f(0) is equal to                                                        a) log 3                  b) (log 3)2                    c)                        d) e3                                                          23) is continuous for    


a)               b)             c) only x > 0         d) no value of x  


24) The value of f (0) so that may be continuous at x = 0 is                                        a)             b) 0                             c) 4                                     d) -1 + log 2   

25) Let and f(0) = 12. If f is continuous at x = 0, then the value of a is equal to =   a) 1                      b) – 1                 c) 3                      d) – 2   

26) If continuous at x = 0, then k is equal to                           a) – 4                          b) – 3                                c) – 2                           d) – 1  

27) If is continuous at x = 0, then      




a)            b)                       c)               d) 



28) If is continuous in [0,1] and, then is equal to      

a) 0                            b)                                  c) 2                            d) 1 

29) The set of points of discontinuity of the function is      


a) {0}                         b)                                   c) {1, -1}                    d) 



30) If , then the points of discontinuity of the function are                     a) {0}                        b) {0,1}                               c) {1, -1}                    d) 

31) The value of f(0), if is continuous at x = 0 is      




a)                          b)                                 c)                         d) 

32)is a) discontinuous  b) imaginary   c) continuous  d) not defined  

33) The function is not defined at x = 2 In order to make f (x) continuous at x = 2, then value of f (2) should be defined as    a) 3      b) 2     c) 1    d) 0  

34) Let   for what value of a, f is continuous at x = 0?                a) 2                        b) 4                               c) 6                           d) 8 

35) The value of f(0), so that the function is continuous everywhere, is      a) 1/ 8                         b) 1 / 2                      c) 1/ 4                      d) 0   




36) If a, b, c and d are positive, then is equal to                                                         a)                                 b)                        c)           d) e  

37) is equal to       a) e-1                  b) e                 c) e2               d) 0  

38) The value of then k is equal to    a) 1/5       b) 1/6     c) 1/4     d) 1/2  

39) The value of is     a) e2             b) e-2           c) e6          d) 1  

40) If is continuous at x = 0, then k is equal to                         a) – 2                           b) 2                          c) 1                            d) – 1 





41) The value of f(0), so that the functionbecomes continuous for all x, is given by   a)                b)                 c)               d)   



42) If the function is continuous at x = 2, then k is equal to      a)                      b) – 1                      c) 0                       d)      

43) If the function is continuous everywhere, then the values of c and k are respectively   a) – 3, – 5             b) – 3, 5           c) – 3 , – 4            d) – 3 , 4   


44) If given by is continuous function on R, then (a, b) is equal to   a) (1/2, 1/2)              b) (0, – 1)              c) ( 0, 2)                d) (1,0)  


45) If is continuous at x = 0,then will be      a) e15                                  b) e2                                c) 15                              d) 1 


46) If then =  a)  1     b) – 1     c) 0     d) 2







47) If and then the range of is                                                                                 a)                                b)                       c)                   d)   






48) Let .If  is a unit vectors, then the maximum value of is    a) 1                  b)                   c)              d)  









49) Letbe three unit vectors such that .If is not parallel to , then the angle between is      a)    b)   c)    d) 





50) The diagonals of a parallelogram are given by            then area is…a) sq. units  b) sq. units  c) sq. units d) 

51) If the vectors  lie in a plane, then c (for non-negative distinct number set of a, b, c) is …    a) the arithmetic mean of a and b     b) the geometric mean of a and b        c) the harmonic mean of a and b        d) equal to zero       




52) If in a triangle ABC, where then the value of must be      a) – 1                b) 0            c) 2          d) 








53) If are two vectors and  is a vectors such that then =…. a)        b)         c)        d)  

54)  If are three non-coplanar vectors, then [image: ]=                          a) 0                  b) [image: ]                   c) [image: ]                          d) [image: ]  
55) Let [image: ].If [image: ]is a unit vector such that[image: ]and [image: ]then [image: ]=….      a) 0                 b) 1                 c) 2                 d) 3 
56) If [image: ]and vectors [image: ] are non-coplanar, then the product abc =         a) 2                  b) – 1                  c) 1                 d)[image: ] 
57) Let [image: ]be such that [image: ]If the projection of [image: ]   along [image: ]  is equal to that of [image: ] along[image: ], and[image: ]and [image: ] are perpendicular to each other, then[image: ]=      a) 2                      b)[image: ]                        c) [image: ]                          d) 14
58) Let [image: ] be non-zero vectors such that [image: ]If [image: ]is the acute angle between the vectors [image: ]and [image: ]then [image: ]      a) [image: ]    b) [image: ]  c)[image: ]   d) [image: ] 
59) ABC is a triangle, right angled at A. The resultant of the forces acting along [image: ]and[image: ]with magnitudes[image: ]respectively, is the force along[image: ], where D is the foot of the perpendicular from A onto BC. The magnitude of the resultant is….     
a)[image: ]                 b) [image: ]              c) [image: ]                       d) [image: ]  
60) Let [image: ].Then the vector[image: ]satisfying [image: ]and[image: ]is..      a) [image: ]            b) [image: ]              c) [image: ]             d) [image: ]  
 
 
image7.wmf
5

6


image75.wmf
lim

21

n

n

f

n

®¥

æö

ç÷

ç÷

+

èø


oleObject23.bin

image76.wmf
¥


oleObject24.bin

image77.wmf
(

)

log

fxx

=


oleObject25.bin

image78.wmf
f


oleObject26.bin

image79.wmf
{

}

2,2


oleObject27.bin

image8.wmf
1

6


image80.wmf
(

)

1

1

fx

x

=

-


oleObject28.bin

image81.wmf
(

)

{

}

fffx

éù

ëû


oleObject29.bin

image82.wmf
{

}

2,2


oleObject30.bin

image83.wmf
(

)

tan2

sin3sin5

xx

fx

xx

=


oleObject31.bin

image84.wmf
2

3


oleObject32.bin

image9.wmf
(

)

2

3

4

4

x

fx

xx

-

=

-


image85.wmf
2

5


oleObject33.bin

image86.wmf
2

15


oleObject34.bin

image87.wmf
15

2


oleObject35.bin

image88.wmf
(

)

cos

51

,

2

at 

2

2

log5,

2

x

x

x

fxx

x

p

p

p

p

ì

-

¹

ï

ï

-

==

í

ï

=

ï

î


oleObject36.bin

image89.wmf
(

)

32

1620

2

xxx

fx

x

+-+

=

-


oleObject37.bin

oleObject1.bin

image90.wmf
(

)

2

1cos4

,if 0

,if 0

,if 0

164

x

x

x

fxax

x

x

x

ì

-

ï

<

ï

ï

==

í

ï

ï

>

ï

+-

î


oleObject38.bin

image91.wmf
(

)

(

)

4

1cos1cos

x

fx

x

--

=


oleObject39.bin

image92.wmf
1

lim1

cdx

x

abx

+

®¥

æö

+

ç÷

+

èø


oleObject40.bin

image93.wmf
/

db

e


oleObject41.bin

image94.wmf
/

ca

e


oleObject42.bin

image10.wmf
2

p

=

x


image95.wmf
(

)

(

)

/

cdab

e

++


oleObject43.bin

image96.wmf
(

)

1/log

1

limlog

x

x

ex

®


oleObject44.bin

image97.wmf
(

)

4

0

cossincos

lim

x

xx

x

®

-


oleObject45.bin

image98.wmf
2

2

21

lim

42

x

x

xx

xx

®¥

æö

-+

ç÷

-+

èø


oleObject46.bin

image99.wmf
(

)

(

)

(

)

13

log13,for0

,for0

x

xx

fx

kx

-

+¹

ì

ï

=

í

=

ï

î


oleObject47.bin

image11.wmf
(

)

1sin

,

22

,

,

2

p

p

l

p

l

-

ì

¹

ï

ï

-

==

í

ï

=

ï

î

x

forx

x

fxthen

forx


image100.wmf
(

)

2222

aaxxaaxx

fx

axax

-+-++

=

+--


oleObject48.bin

image101.wmf
3/2

a


oleObject49.bin

image102.wmf
1/2

a


oleObject50.bin

image103.wmf
1/2

a

-


oleObject51.bin

image104.wmf
3/2

a

-


oleObject52.bin

image12.wmf
(

)

(

)

=Î

fxkkR


image105.wmf
(

)

(

)

2

22

for2

2

2for2

xkxk

x

fx

x

x

ì

-++

¹

ï

=

í

-

ï

=

î


oleObject53.bin

image106.wmf
1

2

-


oleObject54.bin

image107.wmf
1

2


oleObject55.bin

image108.wmf
(

)

,if1

,if14

2,if4

xx

fxcxkx

xx

£

ì

ï

=+<<

í

ï

-³

î


oleObject56.bin

image109.wmf
:

fRR

®


oleObject57.bin

image13.wmf
Î

xR


image110.wmf
(

)

2

2cos,if

2

sinif

22

1cos,if

2

xx

fxaxbx

xx

p

pp

p

ì

£-

ï

ï

ï

=+-<<

í

ï

ï

+³-

ï

î


oleObject58.bin

image111.wmf
(

)

(

)

{

}

5cos,

cos3sin,0

22

,0

ecx

xxx

fx

x

pp

l

ì-

æö

+Î-

ï

ç÷

=

èø

í

ï

=

î


oleObject59.bin

image112.wmf
l


oleObject60.bin

image113.wmf
 and 

abcdacbd

´=´´=´

rrrurrrrur


oleObject61.bin

image114.wmf
(

)

(

)

adbc

--

rurrr


oleObject62.bin

image14.wmf
(

)

0

f


image115.wmf
4

a

=

r


oleObject63.bin

image116.wmf
32,

l

-££


oleObject64.bin

image117.wmf
a

l

r


oleObject65.bin

image118.wmf
[

]

0,8


oleObject66.bin

image119.wmf
[

]

12,8

-


oleObject67.bin

image15.wmf
(

)

(

)

2

sin4sin4

,0,

tan

xxx

fxx

xx

+-

=¹


image120.wmf
[

]

0,12


oleObject68.bin

image121.wmf
[

]

8,12


oleObject69.bin

image122.wmf
ˆ

ˆˆˆ

2and 3

vijkwik

=+-=+

rr


oleObject70.bin

image123.wmf
u

r


oleObject71.bin

image124.wmf
[

]

uvw

rrr


oleObject72.bin

image16.wmf
0

x

=


image125.wmf
106

+


oleObject73.bin

image126.wmf
59


oleObject74.bin

image127.wmf
60


oleObject75.bin

image128.wmf
, and

abc

urrr


oleObject76.bin

image129.wmf
(

)

(

)

3

2

abcbc

´´=+

rrrrr


oleObject77.bin

image17.wmf
(

)

1sin,1

2

,13,

6tan,36

12

p

p

ì

æö

+-¥<£

ç÷

ï

èø

ï

ï

=+<<=

í

ï

æö

ï

£<

ç÷

ï

èø

î

x

forx

fxaxbforxthen

x

forx


image130.wmf
b

r


oleObject78.bin

image131.wmf
c

r


oleObject79.bin

image132.wmf
and 

ab

rr


oleObject80.bin

image133.wmf
3

4

p


oleObject81.bin

image134.wmf
2

p


oleObject82.bin

image18.wmf
,

2

p

=

x


image135.wmf
2

3

p


oleObject83.bin

image136.wmf
5

6

p


oleObject84.bin

image137.wmf
12

ˆˆ

ˆˆˆˆ

236and34

dijkdijk

=+-=+-

rr


oleObject85.bin

image138.wmf
1

50

2


oleObject86.bin

image139.wmf
1

1005

2


oleObject87.bin

image19.wmf
(

)

cos

,

22

3,

2

p

p

p

ì

¹

ï

ï

-

=

í

ï

=

ï

î

kx

forx

x

fx

forx


image140.wmf
1

1105

2


oleObject88.bin

image141.wmf
1

1000

2


oleObject89.bin

image142.wmf
ˆˆˆ

ˆˆˆˆˆ

,,

aiajckikcicjbk

+++++


oleObject90.bin

image143.wmf
f2

and

f

cc

BCAC

cc

=-=

rrr

uuuruuur

rrr


oleObject91.bin

image144.wmf
f

c

¹

rr


oleObject92.bin

image20.wmf
(

)

2,13

5,3

8,3

+-<<

ì

ï

==

í

ï

->

î

xforx

fxforx

xforx


image145.wmf
cos2cos2cos2

ABC

++


oleObject93.bin

image146.wmf
3

2

-


oleObject94.bin

image147.wmf
ˆˆˆˆ

35and 63

aijbij

=-=+

r

r


oleObject95.bin

image148.wmf
c

r


oleObject96.bin

image149.wmf
cab

=´

r

rr


oleObject97.bin

image21.wmf
(

)

1

sin,0

,

0,0

ì

æö

¹

ï

ç÷

=

èø

í

ï

=

î

p

xforx

fx

x

forx


image150.wmf
::

abc

rrr


oleObject98.bin

image151.wmf
34:45:39


oleObject99.bin

image152.wmf
34:45:39


oleObject100.bin

image153.wmf
34:39:45


oleObject101.bin

image154.wmf
39:35:34


oleObject102.bin

image22.wmf
1

£<¥

p


image155.wmf
,and 

uvw

rrr


oleObject103.bin

image156.wmf
(

)

(

)

(

)

uvwuvvw

+-×-´-

rrrrrrr


image157.wmf
uvw

×´

rrur


image158.wmf
uwv

×´

rurr


image159.wmf
3

uvw

×´

rrur


image160.wmf
ˆ

ˆˆˆˆˆˆ

,,and 23

uijvijwijk

=+=-=++

rrr


image161.wmf
$

n


image162.wmf
ˆ

0

un

×=

r


image163.wmf
ˆ

0,

vn

×=

r


image23.wmf
01

<£

p


image164.wmf
ˆ

wn

×

ur


image165.wmf
23

23

23

1

10

1

aaa

bbb

ccc

+

+=

+


image166.wmf
(

)

(

)

(

)

222

1,,,1,,and1,,

aabbcc


image167.wmf
0

r


image168.wmf
,and 

uvw

rrr


image169.wmf
1,2,and3.

uvw

===

rrr


image170.wmf
v

r


image171.wmf
u

r


image172.wmf
w

ur


image173.wmf
w

ur


image24.wmf
0

-¥<<

p


image174.wmf
uvw

-+

rrr


image175.wmf
7


image176.wmf
14


image177.wmf
,and

abc

r

rr


image178.wmf
(

)

1

.

3

abcbca

æö

´´=

ç÷

èø

rr

rr

rr


image179.wmf
q


image180.wmf
b

r


image181.wmf
c

r


image182.wmf
sin

q


image183.wmf
1

3


image25.wmf
0

=

p


image184.wmf
2

3


image185.wmf
2

3


image186.wmf
22

3


image187.wmf
AB

uuur


image188.wmf
AC

uuur


image189.wmf
11

and

ABAC


image190.wmf
AD

uuur


image191.wmf
(

)

(

)

22

22

ABAC

ABAC

+


image192.wmf
(

)

(

)

ABAC

ABAC

+


image193.wmf
11

ABAC

+


image26.wmf
(

)

(

)

(

)

3

2

3

41

,0

sinlog1

3

9log4,0

x

fxx

xx

a

x

ì

ï

-

ï

=¹

í

æö

æö

ï

+

ç÷

ç÷

ï

èø

èø

î

==


image194.wmf
1

AD


image195.wmf
ˆˆ

ˆˆˆ

and 

ajkcijk

=-=--

rr


image196.wmf
b

r


image197.wmf
0

abc

´+=

r

rr


image198.wmf
3

ab

×=

r

r


image199.wmf
ˆ

ˆˆ

2

ijk

+-


image200.wmf
ˆ

ˆˆ

2

ijk

-+-


image201.wmf
ˆ

ˆˆ

22

ijk

-+


image202.wmf
ˆ

ˆˆ

2

ijk

--


image27.wmf
2

11

62

==

---

yandt

ttx


image28.wmf
27

2,,

33


image29.wmf
37

2,,

23


image30.wmf
33

2,,

27


image31.wmf
2

1,2,

7


image32.wmf
(

)

2

,0

2

1024,2

-

=¹

-

==

nn

x

fxx

x

x


image33.wmf
(

)

2

sin5

,0

2

1

,0

2

ì

¹

ï

ï

+

=

í

ï

+=

ï

î

x

x

xx

fx

kx


image34.wmf
1

2


image35.wmf
2

2

12

812

xx

xx

-+

-+


image1.wmf
(

)

fx


image36.wmf
(

)

1,for 0

1,for 0

fxxbx

x

=+-<

==


image37.wmf
1,0

ab

==


image38.wmf
1,0

ab

=-=


image39.wmf
0,1

ab

==


image40.wmf
1,1

ab

=-=-


image41.wmf
(

)

,....0

2,.....0

xx

fxx

x

x

-

=¹

==


image42.wmf
(

)

0

lim

x

fx

®


image43.wmf
5

9

64

2

4

-

+

-

x

x

x


image44.wmf
¹


image45.wmf
(

)

fx


image2.wmf
(

)

(

)

32

2

1620

,for2

2

,2

ì

+-+

¹

ï

-

í

ï

=

î

xxx

x

fx

x

kforx


image46.wmf
)

3

tan(

)

2

tan(

2

2

x

x

x

x

-

-


image47.wmf
0

x

¹


image48.wmf
0

x

=


image49.wmf
(

)

0

f


image50.wmf
3

4


image51.wmf
3

2


image52.wmf
3

5


image53.wmf
3

1


image54.wmf
(

)

2

loglog7

49

x

fx

x

-

=

-


oleObject2.bin

image3.wmf
(

)

(

)

2

2

,for2

2

2,for2

ì

-++

¹

ï

=

í

-

ï

=

î

xaxa

x

fx

x

x


image55.wmf
1

7


oleObject3.bin

image56.wmf
1

49


oleObject4.bin

image57.wmf
1

98


oleObject5.bin

image58.wmf
1

79


oleObject6.bin

image59.wmf
(

)

2

332

for 0

xx

fxx

x

-

+-

=¹


oleObject7.bin

image4.wmf
(

)

3

11

for0

+-+

=¹

xx

fxx

x


image60.wmf
1

log

3

æö

ç÷

èø


oleObject8.bin

image61.wmf
(

)

fxxx

=+


oleObject9.bin

image62.wmf
(

)

,

x

Î-¥¥


oleObject10.bin

image63.wmf
(

)

{

}

,0

x

Î-¥¥-


oleObject11.bin

image64.wmf
(

)

(

)

2

xx

e

fx

x

-+

=


oleObject12.bin

image5.wmf
1

3


image65.wmf
1

log

2

æö

ç÷

èø


oleObject13.bin

image66.wmf
(

)

(

)

2

1

for 0

sinlog1

4

x

e

fxx

xx

a

-

=¹

æöæö

+

ç÷ç÷

èøèø


oleObject14.bin

image67.wmf
(

)

2

11

,for10

232,for 01

kxkx

x

fx

x

xxx

ì

+--

-£<

ï

í

ï

+-££

î


oleObject15.bin

image68.wmf
(

)

1

sin,0

0,0

k

xx

fx

x

x

ì

æö

¹

ï

ç÷

=

èø

í

ï

=

î


oleObject16.bin

image69.wmf
(

)

,0

k

Î-¥


oleObject17.bin

image6.wmf
1

2


image70.wmf
(

)

1,

k

Î¥


oleObject18.bin

image71.wmf
(

)

1,

k

Î-¥


oleObject19.bin

image72.wmf
(

)

1,0

k

Î


oleObject20.bin

image73.wmf
(

)

fx


oleObject21.bin

image74.wmf
1

2

2

f

æö

=

ç÷

èø


oleObject22.bin

